
: Proof by Contraposition
Conjecture: lt ac S bc, then c
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: Proof by Contraposition

Conjecture: lt n2 is even, the n n is even.
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Proof by Contradiction
(a.k.a. Reductio ad Absurdum)

Recafl the Law of lmplication: p + q - =pV q
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: Proof by Contradiction
Conjecture= lt 3n + 2 is odd, then n is odd.
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: Proof by Contradiction (1 l2)
Coniecture: The sum of the squares of two odd integers

is never a perfect square. (or: lt n- a2 + b2, then n is
not a perfect square, where e,b € Zodd.)
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: Proof by Contradiction (2 | 2)
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How To Prove Biconditional Expressions
(i.e., Conjectures Of The Form p # q)
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Disprovi ng Conjectu res
Two common approaches:


